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int solve() {
enqueue(queue, © 0 );
while(gSize(queue)>0) {
node_t here = dequeue(queue);
if(3—)L?) return & X;

KEAE DFEHEnode MK,

push(queue, node);
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https://icpc.iisf.or.jp/acm-icpc/problems/
https://icpc.iisf.or.jp/past-icpc/domestic2010/#section_B
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enqueue(queue, start);
while(gSize(queue)>0) {
node_t here = dequeue(queue);
if(AL(ZUMTFS ?
&& KEAM ?){
if(3—JL ?) return & X;
il e

enqueue(queue, north);

}
// . Pa. RICHEER
}
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int solve(....) {
enqueue(queue, start);
while(qgSize(queue)>0) {
node_t here = dequeue(queue);
if(ALIZUMTFS ?
&& REAE ?){

if(3—JL ?) return &EX;

shEEC £%,
enqueu(queue, north);

}
// E. . BIZHREHk
}
// WY Do T-EE DAL
}
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@ 7~ struc‘F point struct point {
(= point_t) )
Int x, vy,
| | } point_t, * point_tp;
B Queue #define BUFSIZE 1024

®int qSize(queue);

struct queue {
int head, tail, size;

®void enqueue(queue, point); point_t buf[SIZE];

®point_t dequeue(queue);

} queue_t, * queue_tp;

struct queue E

(= queue_t)
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enqueue(q, point);

enqueue

head,tail,size

I
1L dequeue

B point_t
dequeue(q);

void enqueue(queue_tp q,

point_t p) {
if(q->size >= BUFSIZE) ...;

if(q->tail==BUFSIZE)

g->tail=0; | SEOEEE
ring buffer
Z{E A

point_t dequeue(queue_tp q) {
if(g->size <= 0)
point_t result =
q->buf[g->head++];
if(g->head==BUFSIZE) ...;
return result;
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int maln(v0|d){
inta=3;
int r = max(a, 5);

}
BHEIL, EZOE—

B enqueue(q, point);

queue_t strQ;

int main(void) {
point_t point = {3, 5};
enqueuer(&strQ, point);

} queue_t strQ;
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enqu s

void enqueue(queue_tp q,

enqueue

point_t point) {
g->buf[g->tail++] = point;

main

B point_t dequeue(q)

static
variables

point_t dequeue(queue_tp q) { ‘
point_t result = g->buf[g->head++];

dequeue

return result;

}

int main (void) {

main

point_t next = dequeue(&strQ); head Mkai
} strQ: IIIIHIII

static
variables



